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	Across


	2.

	By using 4 energy saving light bulbs in your home you will use 80% less electricity and save one _____ of CO2.(5)

	4.

	The Latin word for this is homo sapiens.(5)

	8.

	___ ________ is the release of particles into the air from burning fuel for energy.(3,9)

	10.

	This phenomenon causes fluctuating sea temperatures rise negatively affecting coral reefs. (6)

	11.

	This type of product is usually made from organic material such as plants and animal matter.(13)

	13.

	An ecological or environmental area that is inhabited by a particular species. (7)

	14.

	The particles released into the air from burning fossil for energy is also known as black _____.(6)


	
	Down

1.

CO2 levels in the atmosphere have gone up 38% since 1750 - the year what started. (10, 10)
3.

Penguins in the Antarctica are facing a _________ problem due to global warming. (10)
5.

As the Earth's ice caps continue to melt rising what are a global threat.(3, 5)
6.

A chemical compound composed of two oxygen atoms covalently bonded to a single carbon atom.(6,7)
7.

Light that is electromagnetic radiation with a wavelength shorter than that of visible light.(11)
8.

What might have an unforeseen effect on climate change because it reduces methane levels. (4, 4)
9.

The ____ Star has historically been used for navigation, both to find the direction and to determine latitude. (5)
12.

Which international agreement for climate change has the US, China, and India not signed? _____ Protocol. (5)
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